" (b) Bu-si-néég it
(d) Budget

(b) Loss

(d) Service the socie
-operatlves business have one of their main

(b) Profit
(d) None
sector may be information, service, attg
es, discussion and the like.
| (b) Manufacturing

,-_ 2ring (d) Trade ]
the process of transformation of a regional phenomenon int
(b) Privatisation
(d) Liberalisation

kN

(b) (i) and (ii)
i) and (iv) (d) All of above
: make products, from raw materials or component parts, W

(b) Manufacturers
, (d) None
;I;aw;ﬂgi is not advantage of globalization.
Increased competition
) Huge amount of foreign investment - G
-‘@dmahced technology ~ (d) Access to external
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(d) Economics 'r,,.». '

12, -‘MaﬁﬁfactUnng%etmr contributes ...... OFiindIa’sIGDE: o it (,,ww?
[ S (D). 30%. e S S
(c) 15% (d) 25% ‘ o I
13. ...... make profit in the form of commission.
(a) Service Providers (b) Manufacturers
(c) Traders (d) All
14. India is the largest market in the world for
(a) Cars (b) Three wheelers
(c) Heavy vehicles (d) Public travels
15, S is a willing exchange of goods.
(a) Service (b) Trade
(c) Manufacturing (d) Both (a) and (b)
16. Globalisation leads to ......
(a) clean environment (b) reduce competition
(c) increased terrorism (d) none of the above

17. The various industrial sectors are: Engineering, Process, Textile, Chemical,
Agro, IT, Banking, Insurance, Retail, Hospitality and Health Care.

(a) True (b) False
18. Annual growth of approximate ...... is recorded in last Five Years by service
industry.
(a) 10% (b) 30%
(c) 20% (d) 5%
19008 industry primarily deals with the design, manufacture and operation of
structures, machines or devices.
(a) Engineering Industry (b) Process Industry
(c) Hospitality Industry (d) Health Care Industry

20. LPG policy stands for ......
(a) Localisation, Privatidation and Globalisation Policy
(b) Liberalisation, Privatisation and Globalisation Policy
(c) Liberalisation, Privatisation and Government Policy
(d) Liberalisation, Privatisation and Generalisation Policy

21. ... industry primarily comprises sectors like civil, electrical, electronics and
aeronautical. . &
(a) Engineering Industry (b) Process Industry / :‘_a};

(c) Textile Industry (d) Chemical Industry =)
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(b) False

H )
lobalization?

("b)ﬁ?fr.nbor'ted culture
(d) None of the above

enge in front of Automoblle industry.
(b) False

S output consnsts of polymers and plastics. .g
‘ (b) False 3

(b) Finance department |
(d) Market _ 3
g is advantage of globallzatlon?

(b) Demand is continuous

(d) Huge capacity of production
(b) Agro Industry
(d) Banklng Industry
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«the‘bus‘iness activity of accepting and safe rding money owned by
ther individuals and entities. fox

(Lag Agro : , (b) IT
(c) Bankmg : - (d) Insurance
39, There are two types of banks commercial/retail banks and investment bank.
figa)? BTrgee o8 " hEn0 , (b) False
40. ’SEzﬁmeans ...... ’ '
(a) Special Export Zcnes (b) Special Economic Zones
(b) State Economic Zones (d) Special Engineering Zones
41. Banks are regulated by ......
~ (a) SBI (b) RBI
(c) CBI (d) FBI
42. Pun]ab National Bank is a ......
(a) Public sector bank (b) Private sector bank
(c) Foreign bank (d) Co-operative bank
43. HDFC Bank is a ......
(a) Public sector bank | (b) Private sector bank
{c) Foreign bank (d) Co-operative bank
44, HSBCisa ...... : :
(a) Public sector bank (b) Private sector bank
(c) Foreign bank (d) Co-operative bank

45. ... is a promise of compensation for specific potential future losses
in exchange for a periodic payment.

(aw)_u Prﬂcess (b) Chemical
(d) Insurance

involves collecting funds from many insured entities to pay for

(b) Banking
(d) Hospitality
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ancial support in t:he event of the policyholder b 5

se of ¢ ﬂls?blmg illness or injury.
] (b) Health insurance
~ (d) Disability insurance

ollcy older agamst losses arising from the criminal acts of th

(b) Crime insurance

(d) Property insurance

¥ ﬂl
monetary benef“t to the family of dead person or oth r
funeral and other fi ,_v‘f

éficiary It may also provide for burial,

(d) Property insurance

S ‘ance
such as fire, theft or weath

(b) Dental insurance
‘protection against risks to property, erj

(b) Property insurance < |
rance (d) Earthquake insurance 1
' agamst property loss due to flooding. -‘
Jnsurance (b) Life insurance
ty insurance (d) Boiler insurance i

es,.doverage for damage or destruction of the policyholder's home.

‘insurance (b) Life insurance i
ty insurance (d) Home insurance ‘

e of ga&?iﬁﬂ‘éervices to the enduser.

0. (o (b) Insurance

- (d) Hospitality

en the guest and the host.

%5 () (b) Banking

g (d) Hospitality

'dﬁpﬁnﬁsngn the availability of leisure time and

(b) Insurance Industry
(d) Health Care Industry

Scanned by CamScanner



62.

63.

64.

65.

66.

67.

e )) Fist e H’k‘)&ﬁ {P)
- | (J)Manufacm icturing (C. SOaBE TYAL
(a) World Tariff Organisation (b) World Trade Organisation
(c) World Tourism Organisation (d) Wild Trade Organisation
Globalization is generally used to refer to economic globalization.
(a) True (b) False

Which of the following is wrong?

(a) The barriers to international trade are lowered through globalization
(b) Globalization refers to economic globalization

(c) Globalization is a process by which people of entire world are united
(d) Globalization reduces competition

Following is not advantage of globalization.

(a) Greater international travel and tourism

(b) Access to advanced technology

~ (c) Access to external finance

(d) Consumers prefer foreign goods

Following is not advantage of globalization.

(a) Imported culture may be a danger to an Indian culture
(b) Increased information flow

(c) Access to advanced technology

(d) Access to external financing

Which of the following is not correct?

(a) Globalization reduces access to advance technology

(b) Globalization increases competition

(c) Globalization can help in tackling cross boundary terrorism

(d) Globalization gives better access to external financing

Which of the following is correct?

(a) Global market calls for improved productivity and increased competition
(b) Globalization is a regional phenomenon

(¢) Globalization refers to privatization

(d) Globalization reduces tourism

i
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(b) Foreign investment

'Access to better quality goods (d) All of the above ’-,\,j’:
A : )9
| ANSWER KEY
20) | 30 | 4@ | 5@ [ 6@ | 7@ | 8® | %@ |10 1
12 () | 13. () | 14. ) | 15. () | 16. (@) | 17. @ | 18. () | 19 (a) 20, :
.(b) | 23. (b) | 24. (a) | 25 (a) | 26. (d) | 27. (b) | 28. (b) | 29. (d) | 30. (:

~

20 | BE | ME [ B0 BE@]| 70| BO|PE| 0

42 (@) | B.(0) | 4 (0 |45 | 460 |4 | 8@ | 490|500

55 (d) | 56.() | 57 (d) | 58 () | 59 (b) | 60. ()
6.(a) | 67.(2) | 68.(¢) | 69.(2) | 70.09)

2 3
;.
:!
£ |
: RSN
: )
G |
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